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1. Which of the following statements is correct with reference to the economic growth of Indian
Economy in 2017-18 as compared to 2016-17?

{A)  Growth of Indian Economy was accelerating while that of world economy was decelerating.
Growth of Indian economy was decelerating while that of world economy was accelerating.
{C}  Growth of both Indian and world economy was accelerating.
(D)  Growth of both Indian and world economy was decelerating.

2. Financial Action Task Force (FATF) has recently decided to put up which of the following countries
under its Grey List?

Pakistan (B)  Syria {C) Turkey (D)  Russia

3. India has become a....cccceevvececvievveeees as per Central Electricity Authority during the year 2016-17.
‘_ ) Net Exporter of Power

{B)  Net Importer of Power

{C) Is neither an exporter nor importer of power

(D)  Thereis no cross border trade of power in the world

4. Which of the following indicators is also used while calculating Multidimensional Poverty Index?
Access to Electricity (B} Access to Telephone
{C}  Maternal Mortality Rate (D) Access to Higher Education

5. Union minister talked about newly revamped department DIPAM in the budget of 2018. It is related

Investment and Public Asset Management

{B)  Industry and Profit Management

{C)  Industrial Productivity and Mechanical Development
{D)  There is no such Department.

6. The Health Dimension in Human Development Index is assessed by ...ccceeeeeeeeennnce.
{A) Infant Mortality Rate (B} Life Expectancy Rate
(C) Death Rate (D} None of the above
7. Which of the following were launched by the Government of India following the advice of the
World Bank?
1. New Agricultural Strategy
2 Food Corparation of India
3. Public Distribution System
4, Agricultural Prices Commission
{A) Onlyland2 (B) Only2,3and4 {C) Onlyland4 a 1,2,3and 4
8. Which of the following statements are correct?
1. NHRB Residex is India’s first official Housing Price Index launched in 2007.
2 Ahmedabad has shown a consistent rise in its index value since the launch.
3. The calculation is based on four quarter moving average and the index is an initiative of
National Housing Bank.
{A) Only2and3 (B) Onlyland3 {C}) Onlyland2 e 1,2and 3
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Which of the following has/have launched Agricuttural Marketing and Farm Friendly Reforms Index?
1. Ministry of Agriculture and Farmers’ Welfare

2. The National Institution for Transforming India (NITI Aayog)

National Bank for Agriculture and Rural Development (NABARD)

Only 2 (B) Only2and3 {C) Only3 (D) Onlyland3

Identify recent developments in the area of fiscal prudence and consolidation from the following
options:

1. Devising the twin concepts of ‘Monetized Deficit” and ‘Primary Deficit’

2. Redefining the Idea of ‘Fiscal Deficit’

3 Abolishing the classification of development and non-development categories of expenditures
{A) Onlyland2 (B) Only2and3 {C) Onlyland3 (,Ei) 1,2 and 3

The difference between the Gross National Product (GNP) and Net National Product (NNP} is equal to
the e

{A)  Consumer Expenditure on Durable Goods
(B) Direct Tax Revenue

{C) Indirect Tax Revenue

Capital Depreciation

Which of the following is (are) covered under non-Plan expenditure with reference to Union Budget?

1. Defence Expenditure

2. Interest Payments

3. Salaries and Pensions _

{A) Only1l (B) Only2and3 (bL 1,2and 3 (D) Onlyland3

It is proposed to impose a Social Welfare Surcharge by abolishing which of the following Cess as per
the Union Budget 2018-19?

1s Education Cess 2. Coal Cess
3. Swachh Bharat Cess 4.  Secondary and Higher Education Cess
{A) Only2and3 (B) Onlyland2 (K’i Only1and 4 (D) 1,2,3and4

Which of the following statement(s) is(are) correct with reference to India’s Wholesale Price Index
{(WPI)?
1. The base year of WP has been revised from 2004-05 to 2011-12.

2. In the revised services, WPI will continue to constitute two major groups namely primary
articles and manufactured products.

3 Prices used for compilation don’t include indirect taxes in order to remove impact of fiscal
palicy in the new series of WPI.

{A)  Only1l (@ Only 1and 3 {C) Only2and3 (D) 1,2and3

Which of the following statements are incorrect regarding the estimation of poverty in India?

1. The poverty line in India is income based.

2. The poverty line was originally fixed in terms of Income | food requirements in 1978.

3. Food requirements were based on calories standards for individuals in rural and urban areas in 1980
and the cost of procuring the food grains equivalent to calories was fixed as the poverty line.

Only1and 2 (B) Only2and3 {C) Onlyland3 (D) 1,2and3
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According to the Economic Survey 2017-18, which of the following is{are) the vital factor(s) for
economic development of India?

1. Promoting inclusive employment-intensive industry

2. Building resilient infrastructure

3. Promoting sustainable development goals of UNO

{A) Only1l Only 1 and 2 {C) Only3 (D) 1,2and3

Which of the following statement(s) is(are) correct?

1. Under the Interest Subvention Scheme {ISS), farmers can avail of short-term crop loans up to
Rs 3 Lakhs payable within one year at only 7% per annum.

2. The ISS also provides for an additional subvention of 3% for prompt repayment within a year.

3. The ISS is given by Central Government to NABARD for refinance to public sector banks, private
sector banks, cooperative banks and regional rural banks.

{A) Onlyland3 (B) Only3 {C) Onlyland?2 (D} 1,2and 3

Which of the following statement(s) is(are) correct?

1. Universal Basic Income (UBI) is a welfare programme in which all citizens receive an
unconditional sum of money from the government.

2. Financial inclusion is crucial for the success of UBI in India.

{A) Only1l (B) Only2 g,l Both 1 and 2 (D)  Neither 1 nor 2

Balanced Budget means a budget with zero .....cccccovevveceeenne.

1. Monetized Deficit 2. Fiscal Deficit 3. Revenue Deficit 4. Primary Deficit

(A) Only1 (B) Only2 @ ony3 (D) Only1and4

The concept of ‘Mahalnobis Distance” was developed t0 .....cooveevceiciireenen.
Guess the production capacity of an area and expected yield

{B)  Estimate the industrial production

{C}  Estimate the five-year Plan target

{D)  Estimate the rate of growth of an economy

The major driver of the GDP growth between 2012-13 and 2015-16 and again in 2016-17 has been

{A)  Private Investment Expenditure @ Consumption Expenditure
{C)  Export Growth (D} Tax Revenue

Which of the following statement(s) regarding Treasury bill in India is{are) correct?

L. It is issued by Government of India.

2. Itis issued by Reserve Bank of India.

3. It is issued toraise short-term funds for private sector.

4. It is issued to raise short-term funds for Government of India.

{A)  Onlyland3 (B) Only2and3 Only1and 4 (D) Only2and4

The main aim of National Mission for Green India (GIM) is to -

Protect, restore and enhance India’s diminishing forest cover and responding to climate change
(B} Reduce pollution in 10 most polluted cities of India

{C}  Increase the use of non-commercial sources of energy

{D)  Encourage the use of alternative sources of energy
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Asia’s first EPZ was set up in .
{A)  Shanghai, China B Kandla, India
{C}  Katunayake, Sri Lanka (D} Karachi, Pakistan

According to the quick estimates of 2016-17, the highest share in the State economy of Gujarat is of

{A)  Primary Sector (B) Tertiary Sector Secondary Sector (D) Export Sector

According to which of the following scheme(s) Government of Gujarat will provide interest subvention
upto 6% to train 50,000 skilled and semi-skilled workers in rural areas?

1. Mukhyamantri Gramoday Yojana 2. Mukhyamantri Apprenticeship Yojana

3. The Bajpai Bankable Scheme 4.  Manav Kalyan Yojana

{A) Onlyland4 ' Only 1 {C) Only4 (D) Onlyl,2and4

Which of the following statement(s) is(are) correct with reference to free trade agreement (FTA)?

1. FTAs are arrangements between two or more countries or trading blocs that primarily agree to
reduce or eliminate customs tariff and no tariff barriers on substantial trade between them.
2. Each member sets its own tariffs on imports from non-member.

Only 1 (B) Only2 {C) Bothland?2 (D)  Neither 1 nor 2

Which of the following statement(s) is (are) correct with reference to the reason(s) for Cyclical
Unemployment?

1. Cyclical nature of business

2 Recession in global market

3. People keep changing from one job to another

4 Mismatch between the jobs available and the skill levels of the unemployed

Only 1 and 2 (B) Only3 {C} Only2and 3 (D) Onlyland4

What is the main theme of Vibrant Gujarat Global Summit 2019?
{A)  Sustainable Economic and Social Development (:B), Gujarat Going Global

(C)  Gujarat : Global Business Hub (f}] Shaping of a new India

Recently which of the following sectors has been granted infrastructure status by the Government?
{A) Transport (B} Logistics Sector . {C) Health (D)  None of the above
Which of the following statement(s} is{are) correct with reference to Gender Development Index?
1. The index measures gender gaps in human development achievements

2, It accounts for disparities between women and men in three basic dimensions of human

development — health, knowledge and living standards
It is released by World Economic Forum
Only 1and 2 (B)  Only2 {C) Onlyland3 (D) 1,2and3

Which of the following statements are correct with reference to the National Population Policy
introduced in India in the year 20007

1. The immediate objective was to meet needs of contraception, health infrastructure, health
personnel and to provide integrated services for basic reproductive and child health care.

2. The medium term objective was to lower down the total fertility rates to the replacement level
by 2010.

3. The long term objective was to achieve a stable population by 2045.

{A) Onlyland2 (B) Only2and3 {C) Onlyland3 @ 1,2and 3
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bkl

AAL AFUBL YHARUL €26 As 2l ol ollSloll QY Aol dAHH &S caasieAl
UHA 52 uRdR] Awal Hzoll Aasl dluadla ... sl B,

(A)  aAwre(l vy (B) AwRre(l 2l

(C) AWRe] st ol sl 2%cl ArliAl
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Which of the following Vision Documents represents BIG 2020 of Government of Gujarat?
{A)  Blueprint for incubation in Gujarat 2020 B Blueprint for infrastructure in Gujarat 2020
{C)  Blueprint for Industries in Gujarat 2020 (D) Blueprint for information in Gujarat 2020

Which of the following statement(s) is(are) correct?

1. Special category States have some common characteristics like having special socio- economic
or geographical problems, high cost of production, etc.
2. The special incentives packages for such States are also implemented by Ministry of Commerce

and Industry.
Himachal Pradesh, Odisha, the North Eastern States are included in this category.
Only 1 and 2 (B) Only2and3 {C) Only1 (D) 1,2and3

Which of the following statement(s) is{are) correct with reference to the Socio-Economic Survey of
Gujarat (2017-18)?

1. Gujarat is the 3rd largest producer of milk in the country.

2. Gujarat is the 2nd largest producer of cotton, groundnut and condiments and spices in India.
Gujarat has higher unemployment rate among the States of India.
Only 1 (B) Only2 {C} Onlyland?2 (D) Only2and3

Which of the following statements are correct with reference to the certain steps taken by the
Government of Gujarat to mitigate different kinds of risks in the state?

1. ‘Apadamitra’ involves training of community volunteers in conducting basic search and rescue
operations during emergencies.

2. National Cyclone Risk Mitigation Project to construct 100 multipurpose cyclone shelters in
collaboration with IMF and Japan.

3. Five emergency response centers to be canstructed at Rajkot, Surat, Vadodara, Gandhidham
and Gandhinagar.

(d) Onlyland2  (B) oOnly2and3 (€) Only1and3 (D) 1,2and3

What is the Liguidity Adjustment Facility Corridor in India?

{A)  The Difference between CRR and SLR

(B)  The Difference between Bank rate and Repo rate

( The Difference between Repo rate and Reverse Repo rate

{D)  The difference between Bank rate and Call Money Market rate

Which of the following includes the correct Indicators of the Economic Development?

1. Real Gross Domestic Product

2. Real per Capita Income

3. Unemployment

4. Poverty

o) Human Development Index

(A)  Only1,2and3 @) only2,4ands
{C) Onlyl,2and5 {D) Only3and4

A systematic record in the form of double entry book keeping balance sheet comprising all economic
transactions between one country and rest of the world during any given period time is called as

{A)  Deficit of trade (B) Terms of Trade
{C) Balance of trade )} Balance of Payments
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40. &R s A A& Eall UBd MUY, B goucl wal Al ARwoudl WA uules,
L5 el 2516 [Astat wHall Woll oo yua .

(A) xladla 1A (Fiscal Policy) (B) sl «l[Q (Investment policy)

Q< < (Monetary Policy) (D) &2 oAl {Taxation Policy)

41, ollRddl ollAel U8l sal wuBs Hoiell oL d?

.  ulRueet 2.l
3. R, ARBAL ¥, Bl
4. [[lael
(A)) $5c1 2,3 Wl U (B) %5l 9, 2 Wal ¥
$5c 4 ol 3 (D) %5cL 4, 2,3 ual U
42. SEZsol o{lAoll Usl s 529 csuiedl Y otell?
(A) R sydl B o2ctdd ds(@s 52

() [Qgd ges GUrell U4l 518 8l

43, oflAelt USl 52 goUaloll €2 vic GUAlscll cAcdgsal el wuuz 52 B?

(A) syl Yusls (B) Guelsdl e Yusls
(C) ool AmA B (D) Guzell U8l 5165 o8l
44. @Rl %;wéla ulasoll oMl el ¢llal UHgl asldoll Hangls was, adHlel ela
yxol ... 8. .
(A) o0 g A=l
(C) UMl Y Guzel A4 88 «tdl
45. el Yol yeu@ o(A{l U8l s¢ utald Gur walRd 8?2
(A)  udel yreel ukld (B) cyrd e uuld
(C)  YHIRRR yrrerl utuld (D) AUctyst weuld

46.  AGEDAI - ‘Yool ElM 2o YLl (Zero Defect and Zero Effect) ol 2o{l USL 565 jolal @ dctoot
87
(A) W2 olcllell™ w(elRllel (Atal Innovation Mission)
(B) WA HARH MR (Start-up India)
(C) Gealual @Rel (Stand_up India)
D) el oot — AUAs125 [Anicl (Make in India)

47.  ollAoll UL Slol vuH el 2ol WHEs Yreu yil wd 872
(A) el [QrclRlett diH HyR
(B) 233 [ArellRAoll M UYL
€) owde cals oel | el wlsi@alel UR ARl (household)ell ca(ERAl 5 Buoll
TTOGUR ¢ addell ve adell aral B

(D) el Aol 237 ciol [QARAURAML 2Bl AHIH H3gR

48. Ulldses §5 ol otiell ciUA 6l WsAd 5AAA @Slo UsLel 52U ESlnell ML B?
(A) ASRNS eisln (B) WSlsd eiSlon
(C) U@t | AottH ¢Sl (D)} on&uilcll ¢slo

49.  oflAetl Ul sl Ui AR, Al 2099-1CHl RASIUA 90 251 Bl A v B?
(A)  x2Ud, seles, dllldely, 30 ual uslAg

(B)) 2lx2Ud, sules, ddoly, AdoUBL Wl HelRE

e, sklles, UMYUE L, USRI Al Ul

(D) 9x2Act, Hel, WEH oloun, 56025 A 3m
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The Public Revenue and Public Expenditure, including public debt, are designed to achieve social
economic and sustainable economic development with low inflation and lower unemployment is
denoted by ..o

Fiscal Policy {B) Investment Policy
{C})  Monetary Policy (D) Taxation Policy
Which of the following are the parts of the Social Infrastructure in India?
1. Transport 2. Housing
3. Health, Sanitation 4. Energy

Education
A) Only2,3and5 (B} Onlyl,2and4
{C) Onlyland3 {D) Only1,2,3and5
SEZs are not exempted from which of the following taxes?
{A)  Stamp Duty a Minimum Alternative Tax
(C)  Electricity Duty (D} None of the above
Which of the following rate of inflation directly affects the end-consumer behavior?
{A)  Wholesale price Index (B} Consumer price Index
{C) BothAandB (D) None of the above

Per Capita income of Gujarat at current prices, in comparison to per capita income of India, at current
PriCes is .oooeveeoeieeceeeceee

{A)  Lower fﬁ] Higher (C}  Equal (D) None of the above

The Indian monetary system is based on which of the following methods?
(A)  Fixed Fiduciary System BJ} Minimum Reserve System
{C}  Proportional Reserve System (D} Maximum Fiduciary System

The Phrase - ‘Zero Defect and Zero Effect’ is associated with the campaign -
(A)  Atal Innovation Mission (g‘B)_ Startup India
(C)  Standup India (B) Make in India

To whom of the following does the Aam Admi Yojana provide social security?
{A)  All labourers in the rural areas
(B)  Alllabourers in the urban areas

(i:) Persons between the age group of 18 years and 59 years under 48 identified vocational/
occupational groups/rural landless households

{D)  All labourers living in both urban and rural areas

Funds collected through provident fund and small savings are part of which funds of the Government?
{A) Contingency Fund (B) Consolidated Fund
{C)  Reserve Fund m Public Account Fund

From the following which of the five States together accounted for 70% exports of India in 2017-18?
{A)  Gujarat, Karnataka, Tamil Nadu, Kerala and Maharashtra

Gujarat, Karnataka, Tamil Nadu, Telangana and Maharashtra

{C)  Gujarat, Karnataka, Andhra Pradesh, Maharashtra and Punjab

(D)  Gujarat, Maharashtra, West Bengal, Karnataka and Kerala
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50. R0%¢-1¢oll el U YelRlolHl eladoll ol ‘wluRelel Aflotall deel dlel. “wuRelet

o[ — ol A2 52 B. _
(A) 2el, ol Uat wietst (B) alfal, UG ual PR
aell, statrk wel dlal ueld (D) USxwol, WAL Aa 341

51, ol Aol Wsl 52 AU Yol 2w uBnell yd drs guel 52l «ell?

(A)  oul (B) Hown (C) 93 B) s
52. e HEEL YRR ugl UGl alclaRl 2R3 Yind 52 B.
A) W@ (Berud (B) g2 AR (Brutud
widRs Gwl (D) Uslallejuld HUR

53.  o{lAcll USL saul ysiell worcllul Well ay yxlddlol @QAudL sla ud 872
(A) el ¥l B)) GusRoldla ol
(c) uHldmel weturell %21l Al aetl Aetall

54, %ﬁa[l ay vl eticla atygAl ... U 2w Ael 8.

A) cbunel wisl  (B)  wrell uys (C) HAR wulcd (D) ALRd wys
55.  Helol sl ofls Wl AMotoll ([ASIRA oo Ul Y.

(A)  delloll [QaclR B) w2l @

€) oa (Qeauz (D) Gusloitt @QrclR

56. ¥RAcd HEZ 0%l ardlbwiddlon ded oA wlel Quisuiedl sl) Qi)
w2 () 87
1. ad 1co8ll 2091 €R1alstoll uHAMNOUML Al €2 Usy Y% B.
2. el ol A 3elctz vl BectHl e He,
3. ARl el yaH WK WEE Aol YRt [Beatdl gl
(A) 55 1 (B) $5d 2 )  §5cL L w3 (D) %5l 2 Ual 3

57.  catdlu Aedl oA wlal Quisuiel sai [atuoﬂ WL B?
1. gadst (33l Astet Gelul Allatslel 2ty ual eldleml sbalz alyla UEI 53 B,
2. datalu arylell e ¢olEls yaell B.
3. datdlu alypletl aypul [ﬁ[&fﬂa dlell el ety .
(A) S5 9 Wal 2 (B) %5 2 ol 3 é;i) $5c 4 ol 3 (D) 4, 2 Wl 3

58. a@auff Al Galloll Uedl o(A el QualHill s2i(1) @Qeot(ell) W (zl) &?
5901l UULAUL ERaE 20nglat Gellol Wicloll € Eﬂu (3ol 3yt Eag@ glrsl (Becl
WA B el A ARcle] s gl eRae Gallet B.
2. alduand AR ya ua As WA Angla eRaues ueuREL B ¥ i Wl dvaunl
wlAa Rscll wydl sluol u0IAR 53 B,
A) S5l A (B) §5cl 2
sgj olel 4 Ual 2 (D) GuRell U8l 5185 18l

59. ([Ruidaell wouRale alsap-yael [@Asid dicl ¢rdila sldele uReud B, ul «glal
Yelsoll adel £ilel QY vl duey Raueell dusizd W2 ez B, Bucael
AA€lloll (A ugl (Baue] olAatl USL sej(al) uReun() B7?

1. olelell wardlzA 2. olluR[etousiz Ul
3. 9B waual ¥, uusk Aglel
v, wslds deolu

$5cl 4, ¥ Wal U (B) %5 4 ol ¥
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In Budget speech of 2018-19, The Finance Minister referred to ‘Operation Green’. This term includes:
J) Tomato, Onion and Potatoes (B} Tomato, Wheat and Paddy
{C}  Coriander, Paddy and Green gram (D) Apples, Papaya and Mangoes

Which one of the following planets doesn’t go around Sun from west to east?
{A)  Mercury (B) Mars {C) Jupiter a Venus

Some heat is received by atmosphere even after sunset from .........cococovevniienene.

| Terrestrial radiation (B) Invisible solar radiation
(C) Latent heat (D) Albedo effect
Among the following types of forest, which has the highest species diversity?
{A) Temperate forests n Tropical forests
{C}  Temperate deciduous forests (D) Temperate grass lands

aximum number of Indian islands are located in...............
Bay of Bengal (B)  Arabian Sea {C) Gulf of Mannar (D)  Senthil Sea

The mighty civilizations of Roman and Greek flourished in .................
{A)  Savanna Region {B) Temperate Region
Mediterranean Region (D) Equatorial Region

Which of the following statements regarding 2011 census for Gujarat is{are) correct?
1. The growth rate of population during the period from 1901 to 2011 is 564%.

2. The lowest sex ratio was observed in Tapi District.

3. Anand and Surat were the districts in top five in terms of literacy rate.

(A)  Only1 (B) Only2 [€) Onlyland3 (D) Only2and3

Consider the following statements related to Lakshadweep islands and choose the correct ones:

1. The Eleven Degree channel separates the Amindivi Island in the north and Cannannore Islands
in the south.

2, Lakshadweep group of islands are of tectonic origin.

3 Minicoy is the largest island in the Lakshadweep group of islands.

(A) Onlyland2  (B) Only2and3 ({€) onlyland3 (D) 1,2and3

Which of the following statement(s) is{are) correct with reference to Marine National Parks?

1. Marine National Park in Gulf of Kutch is situated on the southern shore of the Gulf in the
Devbhumi Dwaraka District of Gujarat and it is the first National Marine Park of India.

2. Gahirmathais the first and the only Marine Sanctuary of Orissa, where Olive Ridely sea turtles
migrate in huge numbers.

{A) Only1l (B)  Only2 Both 1 and 2 (D) Neither 1 nor2

The Himalayan drainage system has evolved through a long geological history. These rivers are
responsible for different erosional as well as depositional structures during their course.

Which of the following are results of depositional activity of the Himalayan Rivers?

1. River Terraces 2. Ox-bow lakes
3. Braided channels 4.  Alluvial Fans
5. Natural Levees
Only1,4and 5 (B} Onlyland4
Only2,3,4and 5 {D) Only2,3and4
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@Al we ded oA wel RQucluiedl sl) Qust(all) WD) 82

1. ufAd Uiz dRdol UM (Ball? el dRULES] Yuad 51RYL B.

2. u@AH wed daRcsugHl walls wal AcouauHl el udadl ddl3 aouaHl wud B,
U@ el Qe Grredl e@ol drs U2 B.

$5c 1 (B) $5cl 1 Ul R (C)  §5c R Al 3 (D) $5c 2

.................. Guadl uRledl otel.

ot Ao s 2. yedl wal Ham
213 wa Al ¥, Yol el AWRRYel
$5cl 1 (B) $5cl U Wl 2

§5cl 2 ol 3 (D) %52, 3 dal ¥
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ellRclotl Well ay %l wd Y wrld 87

(A)  §5cl dciouel (B)) ss< sules

(C) YU Aol dclauel D) ey ual 30

SleFuel [Qaclzell il dlAdR [Qrcll? (NSA)ell e ollA Vel Qs uiedll s2j(al) Quis(el)
W2 (A) 87
0 Al Alddr [@Qeciz el Asell ay dir Alddr UAd sl Al [AadiRal ¢t alddr
Qe sdcunl 2d B,
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3. GWldlHiot, 6UBL A AAMAM S UBEA alagel yeld d60 Yd URACHL B WSSIH
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AR Al LAl [@Aletl o2 el [Qrenalluiell sai [Quuel wal 82

1 lRcell GwsRBoldla Retdlal Holdlstl Yuat [QaatAdl W@ we, [Blalel G yial,
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Which of the following statement(s) is{are) correct in relation to Western Ghats?

1. The Western Ghats are the main reason for the monsoon rain in the western coast of India.
2. Western Ghats are locally known as Sahyadri in Tamil Nadu and Nilgiri hills in Telangana.
Heights of the Western Ghats decrease from north to south.
Only 1 (B) Onlyland?2 {C}) Only2and3 (D) Only2

have no natural satellites
1. Mercury and Venus 2. Earth and Mars
Jupiter and Saturn 4. Uranus and Neptune
Only 1 (B) Onlyland?2 {C}) Only2and3 (D) Only2,3and4

QOut of the five southern States: Andhra Pradesh, Karnataka, Kerala, Tamil Nadu and Telangana, which
state shares boundaries with the maximum number of Indian States?

{A) Telangana only Karnataka only

{C}  Andhra Pradesh and Telangana (D} Tamil Nadu and Kerala

Which of the following statement(s) is{are) correct with reference to the Net Sown Area (NSA) of
any region?

1. The net sown area and the area sown more than once together are called gross cultivated area.
2. The total land area on which crops are grown in a region is called net sown area.

3. In India, about 47% of total reporting area is under the net sown area.

{A) Only1l (B) Onlyland?2 {C) Only2and3 ( 1,2and 3

There is a place ‘A" with longitude 45° east. There is another place ‘B’ with longitude 75° east. If local
time at place ‘A’ is 1100 Hrs, what would be local time at Place ‘B’'?

{A) 1200 Hrs (B)) 1300 Hrs {C) 1000 Hrs (D) 1220Hrs

The tribal population in Andaman island largely belongs to the ...l

{A)  Australoid race (B) Caucasoid race

(C)  Mongoloid race {B) Negrito race

Which of the following statement(s) is(are) correct about the rocks in the Earth?

1. Rocks are commonly divided into igneous rocks, sedimentary rocks and metamorphic rocks.

1.7 lgneous rocks are formed by cooling, solidification and crystallization of hot and molten magma
found below the earth crust.

3 Sedimentary rocks are formed by changes in pre-existing rocks under the influence of high
temperature, pressure and chemically active solutions.

tA} Only 1and 2 (B) Only2and3 {C) Only3 (D)  Only2

Which of the following statement(s) (is)are correct about the Forests in India?

1 Major regions of Tropical Evergreen Forests in India are Western Ghats, Plateau of Shillong,
Andaman and Nicobar Islands and Lakshadweep.

2 Major trees in the Tropical Deciduous Forests are Teak, Sal, Mango, Bamboo and Sandal.

3 Tropical Evergreen Forests are also called Monsoon Forest.

4. The National Forest Policy of 1988 proposed 33% of the total geographical area should be
under forest/tree cover.

{A) Onlyl,2and3 Only 1,2 and 4

{C) Only2,3and4 {D) Only2and3
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URellUlloll WRLel (Coral Reefs) ¥€@l ol Al Qeitoallnisll saui [@Qulell Wl 82
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Which of the following statements are correct with reference to the Coral Reefs in India?

1. Coral reefs are the counterpart to the tropical rain forest in terms of species diversity and
biological productivity in the Ocean.

2 The major reef formations in India are restricted to the Gulf of Mannar, Pal bay, Gulf of Kutch,
Andaman and Nicobar Islands and the Lakshadweep Islands.

3. All the coral reefs in India are fringing reefs.

4. The coral formations of the Gulf of Kutch represent one of the extreme northern limits of

corals in the Indian Ocean.
{A) Onlyl,2and3 Only 1,2 and 4 {C}) Only2,3and4 (D) Only2and3

Which of the following statement(s) is{are) correct with reference to the Biodiversity Hotspot?

1. A biodiversity hotspot is a biogeography region with significant levels of biodiversity that is
threatened with destruction.

2. To qualify as a biodiversity hotspot, a region must meet two strict criteria: it must contain

at least 500 species of vascular plants as endemic and it has to have lost at least 50% of its

primary vegetation.

Western Ghats is a biodiversity hotspot in India.

Only 1 and 3 (B) Only2and3 {C}) Only2 (D) 1,2and3

Which of the following matchi{es) is(are) incorrect?
1. Nathu La pass : Sikkim and Tibet

2. Palakkad gap pass : Kerala and Tamil Nadu

3. Shipki La pass : Arunachal Pradesh and China
4. Zoji La pass : Kashmir Valley and Ladak

(A)  Only1 (B) Only3 (C) Onlyland2 (D) Only2and4
Singapore liesin zZone.

Equatorial rain {B)  Tropical summer rain
{C)  Sub-tropical dry (D) None of the above

In India, which among the following decades are referred as the period of population explosion?
{A) 1921-1951 (B) 1901-1921 {C) 1981-2001 ) 1951-1981

Which of the following statements isn’t correct?

{A)  Peninsular India is separated part of Australia.

(B)  Africa and Latin America are part of Gondwana land.

(C; The disruption of Gondwana land began in Cenozoic Era.
(D) The disruption of Gondwana land began in Mesozoic Era.

Which of the following statements isn’t correct?

{A)  Indus river originates from the Tibet Plateau.

{B)  Jhelum river originates in Kashmir Valley.

{C)  The Ravirises in the Chamba District of Himachal Pradesh.
Sutlej originates from Rohtang Pass.

The soda granite rocks belonging to the Dharwar system in the Subaranrekha river valley of
Chhotanagpur has
{A) Tin Mainly copper and uranium deposits
{C) Bauxite {D) Gold deposits
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Which one of the following pairs of the states of India is associated with the highest and the lowest
sex ratio respectively as per the 2011 Census of India?

(A)  Kerala, Jammu and Kashmir {B) Madhya Pradesh and Haryana

€) Keralaand Haryana (D) Meghalaya and Punjab

Which of the following groups of rivers of India originates beyond India?
(A)  Bharamputra, Ganga and Sutle;] [B)} Bharamputra, Kosi and Lohit
{C)  Bharamputra, Indus and Yamuna (D) Bharamputra, Sarayu and Lohit

The term Green Bonus is related with :
{A) Indian space Programme a Environment and Forest
{C)  Agriculture (D) Indian Military

Which of the following statements is correct about the Datum Line?

{A) Itis adivide between Rann of Kutch & Kathiyawar Plateau.

{B) Itis anatural divide between the Himalayas & the great northern plain.

{C) Itisanimaginary line which passes through the magnetic poles of the Earth.

It is an imaginary horizontal line used as a reference for measuring heights & depths.

Kalol, Singereni, Tehri and Kurnool are serially associated with -
Petroleum, Coal, Hydro electricity, Solar Power

(B}  Solar Power, Hydro electricity, Petroleum, Coal

{C)  Petroleum, Hydro electricity, Coal, Solar Power

{D)  Petroleum, Solar Power, Coal, Hydro electricity

Which of the following cities of Gujarat lies in the north of Tropic of Cancer?

{A) Gandinagar (B)  Surendranagar

(C) Godhara (B) Mehesana

Which of the following two are linked by the Sethusamundram Ship Channel?

(A)  Gulf of Mannar & Palk Strait (E} Cape Comorin & Colombo
{C)  Arabian Sea & Bay of Bengal (D) None of the above

What types of rocks are found in Chhotanagpur plateau?

(&) Igneous rocks (B) Sedimentary rocks

{C)  Metamorphic rocks (D) Lavarocks

The name Hurricane is given to tropical cyclone in
(A)  The North Pacific Ocean (B) Australia
(€ The North Atlantic Ocean (D) The Bay of Bengal

Which of the following pairs are correctly matched?

1. Nainital lake — Tectonic wetland
2. Loktak lake — Oxbow wetland

3. Lonar lake — Crater wetland

4. Chilka lake — Lagoon wetland

{A) Onlyland3 (B} Only2and4
(C) Onlyl,2and4 ( 1,2,3and 4
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Which of the following statement(s) is{are} correct with reference to the difference between
Himalayan Rivers and Peninsular Rivers?

1. The Himalayan Rivers rise in the snowfields and carry water throughout the year whereas the
Peninsular are rainfed.

2. Due to difference in character of the landforms the rivers of the Himalayan region follow highly
serpentine courses whereas the rivers of the peninsular plateau flow through mostly straight
channels.

{A) Only1l (B) Only2 Both 1 and 2 (D) Neither 1 nor2

Which of the following statements are correct with reference to the Alluvial Soils?

1. These soils have occupied the whole of the northern Great Plains except the arid tracts of
Rajasthan.
2. These soils are fertile and utilized for growing Wheat and Rice.

These soils are called regur.
Only 1 and 2 (B) 1,2and3 {C) Onlyland3 (D) Only2and3

How Immigration is different from Emigration? |dentify the correct option.

1. Migration of people into an area from outside is called immigration, whereas movement out of
an area to other regions is called emigration.

2. People moving from one area to another in search of seasonal employment is immigration
while movement of people daily from one area to another area for employment purpose is
emigration.

{A) Bothland?2 w Only 1 {C) Only2 (D) Neither 1 nor 2

How the weather is different from climate? |dentify the correct option.

1. Weather deals with average occurrence of the various weather elements.

2. Climate deals with the day-to-day regional variations of climatic elements.

{A) Only1l (B) Only2

({C) Bothland? (Ijx Neither 1 nor 2

Which of the following continents is known as a hollow continent because its population is very low
in the central areas and concentrated around its margins?
(A)  Africa (B)  Australia ( . South America (D)  Europe

Which of the following constituents of salinity of seawater shares the least concentration?
{A)  Sulphate (B}  Magnesium Potassium (D) Chloride

Which of the following statements are correct in context with Himalayan and Peninsular Rivers of
India?

1. The Brahmaputra is an antecedent river.

2, The Himalayan river courses are more or less straight.
Sh The peninsular river courses are serpentine.

4. The peninsular river valley courses are not deep.

{A) Onlyland?2 Only 1 and 4 {C}) Only2and3 (D) Onlyland3

Which of the following statement(s) is{are) correct with reference to 2011 Census of India?
1. Urban population in India was 31.15% to its total population.

2. Rural population in Gujarat State was 57.40% to its total population.

Kerala has the highest urban population to its total population.

Only1and 2 (B) 1,2and3 {C) Only2 (D) Only3
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Which of the following statement(s) with reference to Gujarati language is{are) correct?

1. Gujarati language belongs to the family of Indo-Aryan Western.

2. Gujarati language belongs to the family of Indo-Aryan Central.

3 Gujarati language speakers are at the sixth position among major languages spoken in India as
per the 2011 Census of India.

4. Gujarati language speakers are equal to the number of Urdu language speakers in India as per
the 2011 Census of India.

(A) Onlyland4 (B) Onlyl,3and4 (C) Only2and3 @) only1and3

Which of the following statements is{are) correct?

1. Onam shifting cultivation is practised in Kerala.

2. Podu shifting cultivation is practised in Andhra Pradesh and Odisha.
3 Jhum shifting cultivation is practised in Madhya Pradesh.

4. Penda shifting cultivation is practised in Assam.

{A) Only2 (B) Only3and4 (C} Only 1 and 2 (D) Only1

Which of the following statements are correct with reference to Iron and Steel industry in India?

1. Rourkela Steel plant was built by the German technical cooperation.

2. The Visvesvaraya Iron and Steeel plant at Bhadravati was set up with the Canadian assistance.
3. The Hindustan Steel Limited’s plant at Bhilai was set up under the Russian collaboration.

4. Bokaro Steel plant was built under the British collabaration.

{A) Onlyland4 (B) Onlyl,3and4 (é} Only1and 3 (D) Onlyland?2

Which of the following statement(s} is{are) correct with reference to the revised allotment of the
identity numbers of the National Highways of India (NHs)?

1. All North-South National Highways now have even numbers.

2. All East-West National Highways now have odd numbers.

3. The new number for the longest NH in India is NH 44.

(A)  Only2 (B) Only1 € 1,2and3 (D) Only3

Which of the following statement(s) is{are) incorrect?

1. Cyclones are usually associated with belts of rain, clouds and snow whereas anticyclones are
generally free from precipitation.

2, Cyclones are violent storms characterized by high wind rotating around a calm centre of low
atmospheric pressure.

3. The lifespan of a tropical cyclone may vary from one to three weeks.
{A) Onlyland2 (B) Onlyland3 ( Only 3 (D) 1,2and3

Waves generated by earthquake, volcanic eruptions or underwater landslides reaching 15 meters or
more in height devastating coastal communities are called

{A)  Cyclones
{C}  Extra Tropical Cyclones (D} Coastal Floods

Tsunamis

Murray-Darling system, one amongst the greatest rivers in the world, is in which country?
{A)  Canada (B) Russia Australia (D)  Germany
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The Multi Application Solar Telescope (MAST) is at _ Solar Observatory.

(A)
A

Bengaluru (B) Mount Abu (C) Sriharikota Udaipur

is intended for natural resources monitoring and management and it operates from

a sun Synchronous Polar Orbit (SSPO).

(A)

Communication Satellite (B} Navigation Satellite
Remote Sensing Satellite (D) None of the above

Which of the following statement(s) is{are) incorrect?

1.

2.
3.
4

Computer is capable of processing only Digital signals.

Appropriate software is required for processing the data.

Computer is capable of processing Digital as well as Analog signals.

Computer is capable of analyzing both quantitative and qualitative data.

Only 1 (B) Only2 {C) Only3and1 (D) Only2and4

According to the Information Technology Act (2008) CERT-In has been designated to serve as the
national agency to perform which of the following functions in the area of cyber security?

1.
2,
3.
4.
(A)
(€)

Collection, analysis and dissemination of information on cyber incidents
Forecast and alerts of cyber security incidents

Emergency measures for handling cyber security incidents

Coordination of cyber incident response activities

Only1and 2 {B) Onlyland3

Only 2 and 4 1,2,3and 4

Which of the following statements is correct?

(B)
(C)
(D)

Dissolved Oxygen of a water body is expected to be high when its temperature is low.
Dissolved Oxygen of a water body is expected to be high when its temperature is high.
Dissolved Oxygen of a water body is expected to be low when its temperature is low.
Dissolved Oxygen of a water body is independent of its temperature.

Polar Stratospheric Clouds are associated with which of the following?

(A)

(C)

Ozone layer depletion (B} Greenhouse effect
Acid Rain (D) Artificial Rain

Which of the following statement(s) is{are) correct?

1.

2.
3t

®
Which of the following statements isn’t correct?
(A)

(C)

(D)

Mangalyaan is India’s Mars orbiter Mission, which was launched towards the Red planet in
November 2013.

Mangalyaan made India the third Asian Nation to reach Mars Orbit.

The total cost of the mission is around INR 450 crore, which is the least expensive Mars Mission
till date.

Only 1 and 3 (B)  Only2and3 {C) Only2 (D) 1,2and3

Increase in carbon dioxide levels in the atmosphere will lead to increase in the rate of
photosynthesis.

Increase in carbon dioxide levels in the atmosphere will lead to decrease in the rate of
photosynthesis.

Increase in carbon dioxide levels in the atmosphere will cause a net transfer of carbon dioxide
from the atmosphere to the oceans.

Increase in the carbon dioxide levels will lead to arise in the global average temperature of earth.
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108.

110.

111.

The Gujarat Livelihood Promotion Company (GLPC) has joined hands with Central Salt Marine and
Chemical Research Institute (CSMCRI) to encourage seaweed cultivation along the state coast. Which
of the following statements are correct with reference to the same?

1. In Gujarat, Seaweed culture can be best developed along the coast lines of Amreli and Kutch
districts.

2. Seaweeds provide valuable source of raw material for industries like health, food, medicine,
pharmaceuticals, textiles, fertilizers and animal feed.

3. Chemicals from red seaweeds such as alginicacid, mannitol, laminarin, fucoidinand iodine are
extracted on a commercial basis.

4. Seaweeds are rich in minerals, vitamins, trace elements and bioactive substances and called as

medical food of the 21% century.
{A) Onlyland2 (B) Only2and3

Only1,2and 4 (D) Only1l,2,and3

With respect to electricity generation and transmission, Wheeling Charges refersto
{A)  Fixed charges for installation of Solar panel in homes

' Charges for transmission of electricity from one place to another through transmission
lines or grid

{C)  Penalties for exceeding the allowed amount of electricity usage

(D)  Charges for failing to pay the electricity bill

Which of the following statement(s) is(are) correct with reference to Geographical Indication (Gl):

1. A geographical Indication is primarily an agricultural, natural or a manufactured product
originating from a definite geographical territory.

2. As of now Kachchhi Kharek, Gir Kesar Mango and Bhalia Wheat are the only three agricultural
products having geographical indications in Gujarat.

Only 1 (B) Only2 {C) Bothland?2 (D) Neither 1 nor2

112. Which of the following statements are correct with reference to the National Biotechnology
Department Strategy (2015-2020) (Strategy-11)?
1. Establish India as a world-class Biomanufacturing hub for developing and developed markets.
2. Empower, scientifically and technologically India’s incomparable human resources.
3 Discourage usage of inspired discovery research.
(A) Onlyland3 (B) Only2and3 ((2} Only 1 and 2 (D) 1,2and3
113. India is not yet a member of which of the following multilateral groups?
1. Nuclear Suppliers group 2. Wassenar Arrangement
3. Australia Group 4.  Zanger Group
{A) Only1l (B)  Only3 Only1and 4 (D) Only4d
114. Which of the following challenges are envisaged in the agriculture policy: Vision 20207?
1. Bridging yield crops
2. Emphasis on rain-fed ecosystems
3. Disintegrated nutrient management
{A) Onlyland3 (B) Only2and3 Only1and 2 (D) 1,2and3
115. Which of the following statement(s) is(are) correct with reference to Kharai Camel?
1. These camels are well adapted to both Dry Land as well as coastal ecosystem and can thrive on
high saline water and tolerate high TDS (Total Dissolved Salts).
2. They have excellent swimming capacity in sea water.
3. They graze mainly on mangrove and other saline species.
{A) Onlyland3 (B) Only2and3 {C) Onlyl 1,2and 3
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116.

117.

118.

The Montreux Record is a register of .
1. Wetland sites under threat of anthropogenic activities.

2. Endangered species of tropical and subtropical Fauna.
3. Coastal cities under direct threat of consequences of global warming.

Only 1 (B) Only2 {C} Only2and3 (D) 1,2and3

Terminator Gene is
{A)  Help in terminating flowering. Help in terminating seed germination.
{C})  Used in hybridization. (D) Helpin terminating biopesticide.

A lake with an inflow of domestic sewage rich in organic waste may result in
{A)  Drying of the lake very soon due to algal bloom

(B)  Anincreased production of fish due to lot of nutrients

€) Death of fish due to lack of Oxygen

(D)  Increased population of aquatic food with web organisms

119. The planned Chhaya Mithi Virdi nuclear power project in Gujarat which has been shifted to Kovvada
{Andhra Pradesh) will be constructed in collaborati_on with which foreign industrial house?
{A) Roasatom (Ei} Westinghouse Electric
{C) EDFandGE (D} None of the above
120. Solar energy in India is more efficient
1. If we fix the orientation of the solar panels towards eastern direction
2. If we fix the orientation of the solar panels towards western direction
3. If we fix orientation of the solar panels towards southern direction
4. If we fix orientation of the solar panels towards Northern Direction
{A) Only1l (B) Onlyland2 (‘@ Only 3 (D) 1,2,3and4
121. In our homes, the typical electric power parameters are in India.
{A) 220V AC, 60 Hz frequency {B) 110V AC, 60Hz frequency
(€) 220V AC, 50 Hz frequency (D) 440V AC, 50 Hz frequency
122. Which of the following are the main air pollutants from the industry through usage of conventional
energy sources?
{A)  Nitrogen and Hydrogen sulphide (B} Nitrogen and sulphur
{C)  Nitrogen and Carbon Dioxide ( Sulphur Dioxide and Nitrous Oxide
123. The main role of Bureau of Energy Efficiency is
(A)  To manufacture energy efficient appliances and inspect accredlta‘non procedure
(Ei} To prepare standards and labels of appliances and specify accreditation procedure
{C) Toadvise government to control the low efficient appliance manufacturing industries
(D) Toinspect all the industries and advise on energy-efficient equipment to them
124. According to 2014 estimations, India is in the list of countries regarding
the amount of €O, emissions from fossil fuel combustion.
(A)  First (B) Second {C) Third Fourth
125. What is the name of NASA’s Solar Probe launched recently to explore corona region of the Sun?
(A)  Corona Solar Probe (B} Voyager Solar Probe
(C)  Atlantis Solar Probe Parker Solar Probe
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126. Which of the following statement(s) is{are} correct?

1. A block-chain is a growing list of records, called blocks, which are linked using Cryptography.
2. Block-chains which are readable by the public are widely used by crypto currencies.

Both 1and 2 {(B) Only2
{C}) Only1l (D} Neither 1 nor2

127. Which of the following virus infections during pregnancy can cause infants born with microcephaly?
{A) Rota Zika
(C)  Nipah (D) HSV2

128 Under Indian Forest Act (1927) which of the following is the correct classification of forest?
{A)  Grasslands, tropical forest, wetlands
{B)  Wildlife Sanctuary, national park, Biosphere reserves
(C)  Grassland, Wildlife Sanctuary, National Parks

Protected Forests, Reserved Forests, Village Forests

129. Which of the following is(are} not example(s} of Cloud Service?

1. Google Drive 2.  MeghR3aj

3. Dropbox 4.  Windows Explorer
(A) Only2 @ onlysa

{C) Only3and4 {D) Onlyl,2and4

130. The phenomenon of exchange of genetic material between two chromosomes during sexual
reproduction is called

(A)  Chromosomal recombination \B\» Chromosomal crossover
(C) Chromosomal translocation {D) Chromosomal rearrangement

131. Which of the following types of Laser is used in Laser Printer?

(Ai Semiconductor Laser (B) Excimer Laser
{C})  Dye Laser (D} Gas Laser
132. Ozone layer prevents entry of which of the following rays in the atmosphere?
{A)  UV:-Bonly {(B) UV-Aonly
{C) Uv-Conly Both UV-B and UV-C

133. Which of the following fuels has minimum Nitrogen content?

{A) Gobar gas (B) CH4
& LrG (D) CNG
134. Which of the following is an artificial non-saccharide sweetner used as a sugar substitute?
(A)  Glucose {(B) Fructose
{C) Galactose e Aspartame
135. Homes in urban areas have satellite TV Dishes. What is the most common frequency band of DTH
signals?
(A) K (B) Ka (© Kn @ «u
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136.

137.

138.

139.

140.

Polar orbits are preferred for remote sensing of Earth dueto
_ Global Coverage {B) Higher resolution
{C)  Snow cover mapping (D) All of the above

If we examine a winter night thermal image of an area, water bodies will appear
compared to land.

Brighter (B) Darker
{C) Same (D} Can’t be seen

ISRO has retrieved a module in Bay of Bengal under space capsule recovery experiment. This
experiment is going to help ISRO in .
Manned space Mission {B) Chandrayaan-2 mission
{C) Remote sensing of ocean {D) Navigation mission

INSAT-3D is a satellite placed in geostationary orbit. It is primarily used for
(A) Communication (‘B)_ Telecommunication
{C) Navigation IEJ} Weather forecast

Prediction of potential fishing zones in maritime States of India is based on the derivation of which of
the following parameters from satellite?

{A)  Salinity and wind velocity

Temperature and ocean color

{C)  Cloud height and waves

(D) None of the above

141. Scientists fromthe Botanical Survey of india have identified new plant species and named it as Drypetes
Kalamii after the name of Dr. A. P. ] Abdul Kalam. From which State was this specie discovered?
(A)  Andhra Pradesh (B)) West Bengal (C)  Mizoram (D) Assam
142. What are the Third Generation Biofuels?
{A)  They are produced from vegetation grown in the wastelands.
(3) They are produced using specially engineered energy crops as its energy source.
(C)  They are produced from non-food crops.
(D)  They are produced using food crops.
143. Which of the following statement(s) is{are) correct?
1. Nuclear Fusion can provide more energy than Nuclear Fission.
2. The radioactive pollution generated in the Nuclear Fission is harmful for living organisms.
3. Fuels required for Nuclear Fission reaction are difficult to obtain.
{A) Only2and3 {(B) Onlyland3
(C) Only?2 D)) 1,2and3
144. Which of the following pairs is incorrectly matched?
{A)  INS Chakra-Nuclear Powered
{B)  Sindhughosh Class-Diesel Electric Submarine
{C)  INS Kalvari-Scorpene Class
None of the above
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145.

147.

1438.

149.

150.

151.

152.

Which of the following waves can be used to study the universe outside the Earth’s atmosphere?

1 Microwaves 2. Gamma-Rays
3 Sound Waves
@A) Onlyland?2 (8) Only2
{C) 1,2and3 {D) Only3
Which of the following statement(s) is{are} correct?
1. In IVF or test tube baby an egg is fertilized by a sperm and transferred into the uterus.
2. IVF child is genetically identical to his/her parents.
In IVF the child carries the DNA of his/her mother only.
Only 1 {(B) Onlyland?2
{C) Only2and3 (D) 1,2and3
In which of the following ailments is Stem Cell Therapy not useful?
{A)  Kidney related ailments ﬁ Hypertension
{C) Liver damage (D) Vision impairment
Which of the following statement(s) is{are) correct?
1. Lasers can be made from a solid or a liquid medium but not from a gaseous medium.
2. Lasers are highly collimated beams of light.
(A) Only1 @& oniy2
{C) Bothland2 (D} Neither 1 nor2

In which one of the following categories of protected areas in India local people aren’t allowed to
own private lands?

{A)  Biosphere Reserves (B} National Parks
{C)  World Heritage Sites (D} All of the above
Which of the following places has maximum biodiversity and endemic animals?
{A)  Eastern Ghats and West Bengal
I Western Ghats and Eastern Himalayas
{C)  Thar Desert and Punjab
(D)  Nicobar and Kerala

Which of the following sentences are correct with reference to Ease of Living Index 2018 by Ministry
of Housing and Urban Affairs, Government of India?

1. The Survey was carried out in 111 cities of India.

2 Kolkata didn’t participate in the survey.

3 Ease of Living Index framework comprises four pillars, i.e Institutional, Economical, Social and
Physical.

{A) Onlyland?2 {B) Only2and3

(€)  Onlyland3 @ 1,2and3

Which of the following statements regarding Water Aerodromes to improve air connectivity is{are)
correct?

1 Places in Odisha, Andhra Pradesh, Gujarat, Assam and Maharashtra have been identified for
this scheme.

2. A water Aerodrome licence would be valid for 5 years.

3. Sabarmati River Front and Sardar Sarovar Dam have been identified under this scheme.

{A) Only1l Only 1 and 3

{C}) Only2and3 (D) 1,2and3
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153. Jos URS(1R 6l 6l olall wWasel ot 25l Fohl e, ula YR seUHl el
8.
(A)) 1y ol UoRdal (B) Alolg wal diol2ls
Rl U seuA (D) GuRell U4l 81 otdl

154. @llRcloll oJulatdl URME (Quality Council of India|QCI) o o{lAoll ULl 53] e R2Aal Al
AR ML yaH @A 26?

(A)  [Qosacust (B) Yol L ogluyR (D) LAty

155, clBcRMl UMR A Slweldl stael AURAAN (RuiRl) 209¢ dlold oA 20al Quielmiel
s2i(aul) [Qtet(all) W(RL) B?
1. O{Liﬂ crdell oltofl sunslott slouesilal U aot e WAl e soll utoll loteue seuml
uldl 8.
2. a2l GuRell slouesiRall (Bl Restul 20l Ut Al andell e cndal il A alst
5e 53] asla B.
3. Ao adell ool sundl Gur WHRS Loz MR IR clldletl aetudd des(l usm
289l
¥. A el ollell slnsl GUR oloueslRoll (sl el 206l vt e adell cfl ada
audlal U etat 3 530 wsla B.
1, 2, 3 Ul ¥ (B) §5 2,3 ol ¥
§5cl 3 Wl ¥ (D) &5l 4

156. @ll2clofl o{lAott USL 565 wiEomll auntal Welloll 0Ll @GBSI 219 2L Ae 2015 8l
(OL Chiki Script) Hofl?

(A) 3§ ®) ollg @ siancl @ictel) (@) ellet

157. o{lA w Al Quielliel s2j(l) @Qulst(all) w3 (L) «tell?
1. usld ol Wel Avgla A6l WRSL T3 HL YURL GlRL YR salll ueall &dl.
2. usld aollol Aaldl A2 U0l &551 UL RUAR] A 59,
3. L WRSIA Ul aoll d2ell Agla WAL URRA2aH (1ee3)a 2 520l
(A) 55 (B) 55l U ol 3
€) s5ct 2 (D)  §5cl R ual 3

158. cllgallHl cloclell usld eallaal HE Hos U512 SlelonM A URA 2o(lot 285200 GUL SRl
%Lucq 8. 2w U o[22 WA Aol 58 A51(A) A3 A BslAet ol
A aleofl 00—l ol UL A . allésll
e. o200l — B atlgol
3. dld - sales asel
3. Sl - eclle AL
(A

) 55l 2 Ul ¥ S5l 3 ol ¥ (C) %5 1 (D) 4, 2,3 Wal ¥

159. @llacloll AlE Rl Act-1 A2lot sttota oA WAL [QuualHiell s(al) @Quist(all) W (RD) B?
1. AR Ax2a (solar corona) oll WA 5¢ll H2q] A SUA(SRO)e] YaUH RAlat B.
2. AR ol ML sl QsuwaatHl AUAG A UldRvSA Alddls R .
3. ad 202u yulul Aef ULl sRaldl wadl

55 4 (B) S5l A3 (C) S5 wA3 (D) %53
160. MRl e 209¢a e oll AlcdRAeglal i ddlE e scll WER AYscL Agoll WA
sl 5[ owselal ecllet 531 =g B.

(A) sl (8) uo Ul () al@»as ws @) ouxdl
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The two new Space Research Technology Centers proposed by the Central Government are at

Jammu and Agartala {B) Chandigarh and Gangtok
(C) Delhi and lzwal (D} None of the above

According to Quality Council of India (QCI) which of the following railway stations ranked top among
the Al category Railway stations?

{A) Vijayawada (B) Pune

lodhpur (D)  Nagpur

Which of the following statement(s) with reference to recently passed Criminal Law Act (Amendment)
2018 are correct?

1. Life imprisonment or Death Sentence has been provided for rapist of girl under 12 years.

2. The minimum punishment in case of rape of women has been increased from seven years to
10 years, extendable to life imprisonment.

3. The punishment for gang rape of a girl below 16 years will be imprisonment for the rest of life
of the convict.

4. In case of rape of a girl under 16 years, the minimum punishment has been increased from 10
years to 20 years, extendable to life imprisonment.
1,2,3and 4 (B} Only2,3and4

{C} Only3and4 (D) Only1

156. Which of the following tribal languages of India got its own Wikipedia edition in its own OL Chiki
script?
(A)  Gondu (B) Bihu @ santhali (Santali) (D)  Bhil
157. Which of the following statement(s) is{are) incorrect?
1. The National Commission for Backward Classes Bill was passed by 123" Amendment.
2. The Commission would supersede the rights of State Governments related to Backward
Classes.
3. The Bill repealed the National Commission for Backward Classes Act(1993).
(A)  Only1 (B) Onlyland3 €) only2 (D) Only2and3
158. Central Government proposed to use hologram-based colored stickers to indicate nature of fuel in
vehicles. In this regard which of the following pairs is(are) incorrectly matched?
1. Light Blue Colour- Petrol and CNG vehicles
2. Orange — Diesel vehicles
3 Green-Electric vehicles
4. Black-Air Fuel
{A) Only2and4 (ﬁ}‘ Only 3 and 4 {C) Only1 (D) 1,2,3and4
159. Which of the following statement(s} is{are) correct about Aditya-L1 mission of India?
1. Itis ISRO’s first mission to study the solar corona.
2. It is an Intercontinental Ballistic Missile developed by India and Russia.
It will be launched by the year 2025.
Only 1 (B) Only2and3 {C) Onlyland3 (D) Only3
160. India pitches for declaring 20192 as international year of with the Food and
Agriculture Organization of UN.
(A)  Rice (B)  Organic farming (C) Commercial crops @ Millets
CSP — 2 — MAASTER] 39 [PT.O.



161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

A ol Aot Ul 52U 2ol Wree olfA UBse lué slelslal uela Y3l wel 87
(A)  slleist (B) @cllel 3 Awn (D) RAAHLR

glAoll YAWBR (Missile Helina) oleid oA wlcell Qusllmiell s(al) RQust(al)
W3 (RA) otell.

1. adaedl da Qsuwadd duldd yauma B.

2. AU A 8o5135 sl Uls? gl AR B

3. A yedl yduraell gAdsre? gzl yduel sl wWadl g 8.

(A) 55l 2 @) 553 (C) 552 A3 (D) 5L 4 w3

AlB ML 6YR 2§ Voo WFaustll wal Adlae §R Wt ot UlF2Acz 85U sl 22
amﬂ AG2auclll QUSAYU Bodel 6lelR WsaM] el Wl BodeMl A%RUA oo 8.

w2 a2 (Achiever) (B) %<2 22 (Front Runner)

Sote5? (Contender) (D) VWadl2e2™ (Aspirants)

ABARH MR U512l URs[AS HAAA Acll ¢l Aol A3 531 2l 2Ayell 2601 o{lAetl Uslell
56 Vool [dra Al 62 B?

(A) ol (EQ ulfls wal uvtelcdl dzeuad

(C) olluAdl AH Halsell (D) GuRell MM

QLR W2SL12 gLl Allollds A3l W2 Al Aol 2SSl A3 sellHl el oAt TS 88 Aoll
2AAS B?

(A) WML MR (B) AL slda

(C) Eereld A s Sotbsluct sldau Qfﬁfﬁ: SotdcAoiet 205 2ls Sobslua sldau

ol Aetl Usle] 52 euzclla 2wt 202 ¢oll Yzullow Qél (Qausuoll agmiell 541 28] B?
(A) 3Rl (B) sules S »R=u (D) ulyuyesl

URAHl Gesre uiue WA ded o2 el [amom@.u sa [@Quiell w2l oell?
1. u AAS Aoaal A3 $5cl AlsULelL % dell CllaUs 62 B.

2. L UAS Anaeal UE ASUL Aol AUUEL UeA s 62 B,

3. elRcloll Ul QB ude 52 B.

¥, ellRcoll Gurguldon asuel dsuell UR(A QPR e 53 B.

(A) 55 U U ¥ (B) 55 2 a3

(C) %53 ol ¥ (D)) 55c 9, 3 Wl ¥

GRA URSRaU A g Gautget Ude GUR Rl Adagloll Yol cled oA whcl
Qusiluiel sial) Qust(sl) W (i) aell?

. ddgsell deur a B 2. s AU MRl UBaR — oA A Ws
3. gl dlstelas Yo ar . ¥, wP Blsl - slet — 1¢00-19-2348.
(A) S5t 1wy o (B %5l R (C) 5512 UA3 (D) §5cl3

Uralod daduiee ol Bledast Buiaay lwet Gur Uiy Quas wdadl ... al2L
GalBct srenul wical &dl.

(A)  UYs AL (B) ualdel HAA, allRd URSIR

ol 2412001 (D) GURell dHIH

uﬁs WA Bed8l 200¢ Ul A6 Al HIZ I¥RAcloll AU ..o S wLRUL.

(A) uiuxl (B) 8 (c) Al (D) dyaH
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To which of the following countries did India provide financial assistance for the construction of
Postal Highway Project?

{A)  Srilanka (B) Bhutan Nepal (D) Myanmar
Which of the following statement(s) is(are) incorrect with reference to Missile Helina?

1. It is an indigenously developed guided missile.

2. The missile is guided by an Infrared Imaging Seeker.

3. It is a helicopter-launched version of the Prithvi Missile.

{A) Only2 a Only 3 {C} Only2and3 (D) Onlyland3

Recently Bureau of Energy Efficiency and Alliance for an Energy Efficient Economy released the State
Energy Efficiency Preparedness Index. Gujarat is ___inthisindex.
Achiever (B) Frontrunner {C) Contender (D)  Aspirants

164. Ministry of Culture, Government of India recently launched Seva Bhoj Yojana. Which of the following
agencies|institutions is(are) eligible under this scheme?
{A)  Orphanages (E} Religious and Charitable Institutions
{C) Registered Labour Organizations (D) All of the above
165. Logo and Tagline for Geographical Indications was launched by Government of India. Which of the
following is its tagline?
{A)  Amulya Bharat (B} Amazing India
{C) Eternal Value of Incredible India 'DQ Invaluable Treasures of Incredible India
166. Which of the following Indian State is hosting 2018 Men’s Hockey World Cup?
(A)  Gujarat (B)  Karnataka {€) Odisha (D)  Andhra Pradesh
167. Which of the following statements are incorrect with reference to the Outstanding Parliamentarian
Award in India?
1. Only Lok Sabha members are eligible to get this award.
2. Members from Lok Sabha and Rajya Sabha are eligible to get this award.
3 President of India will select the awardees for this award.
4. The Award committee will be headed by Vice-President of India.
(A) Onlyland4  (B) Only2and3 (C) Only3and4 @) only1,3and4
168. Which of the following statement(s) is(are) incorrect regarding the Government of India Notification
of health warnings on all tobacco product packets?
L. ‘Tobacco Causes Cancer’ 2. ' Tobacco or Your Family-Any one’
3. “Tobacco Causes Painful Death’ 4. ‘Quit Today Call 1800-11-2356’
{A) Onlyland4 (Si‘ Only 2 {C) Only2and3 (D) Only3
169. Five thematic reports on Sustainable Development in Indian Himalayas Region were launched by
{A)  United Nations (B} Ministry of Environment, GOI
NITI Aayog {D) All of the above
170. According to the Public Affairs Index 2018, Gujarat ranked in best governed State
in the Country.
(B) 6" (€} 3 (o 1
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172.

173.

174.

175.

176.

177.

178.

ABARHL ellzdell (Aol U8l 585 a2 oll 1) WALAs s1GLAA s AR sl
HloAcl Ylict 531 872 ,
EB) vl ul

(A)  sogl
GUell U4l S uwl o8l

(C) A and B tlal

AlARSle] Al olluellum (National Register of Citizen) olloldl ol WAl [@Quualluiel sai

@Qtutell w2l «ell?

1. NRC &s0 ueauesil elelell deell il 2% W, 1evo{l wlA 8.

2. 2AUl NRC HRlAdl A%A HUA BAH A AYRL B,

3. dRsaeuR taldralR(lalell vMlau ua eAUWR sclle] AUl wUWR & Well wun
AUl BUR Fog ol UMUK URSIR A, s3cU&R UAUL &l

¥, MAlRA UELHA 42512 RS AL A2 — 2003 (Citizenship Rules 2003) 3601 dH210{t

A NRC A 2Ll sRelloll [AEel w2l

§5cl 2 Vol 3 (B) %5d 1, 2ol 3 (C) %512, 3 Ual¥ (D) 4, 2,3 Ual ¥

@Qsiiet Wl ulaREl Yos gl MER SRAUMH] WA A ARAA M Wos Wl 50031810t
3(ERtell g1l 92t ol Aol Usl sl Ad YU (UL 28Ul AUUAB xR B?

(A) d (B) RAUElALE

asle sl (D) Guuidl sl ueL etel

Y Awolloll U] W2 Ased Adaet IEoL Fuaboll yeaisaul o[lAatl WSl sl R
YU 5H Uit sAl 872
(A) R (B) %A @% wiyutal (D) Acdusl

alRella ewet ysaell os (India Post Payments Bank) ollotd ol 240ctt @Quicluiell sai
Qutell wal otell?

1. AR oAl 2w widl dsm allRdla 2we ysaell ds o3 ues.

2. ellrela ewd Ysapll ds alld USRI ey [(Bruell Az ad.

3. alrdla ewe ysagl ds calaull dsel viidigls 3la As i Yl 2:dlsidl ad B.
¥,  allkdlal zwd ysaell ols ul 2Alwetl dsm 5l Al Wil Ul otell.

(A) 55 2.3 Al ¥ (B)) 5 2 Aol ¥ (C) %52 ol 3 (D)  $5c1 3 Ual ¥

Ytlotdzll R0 Aol 3601 AURR_AMA ool oA wWAl Quialniell  s2j(ai)
[Qettot(oll) Wz (1) &?
1.l sletcat [@Asia ol (National Skill Development Corporation) Slatcal [@Qsld dosl (Skill
Development Centers) el UM AN dlellH 2l
2. RAMNAL, cleudRA WA dal a6l 551 ddld s 529
. UL Awell 36 WS $RAS ARWAAA A cle{lHotttl saHl AHLadl.
(A) %5 1 (B) %51 2 ual 3 $5cl U ol 2 (D)  §5¢c R

G—LLQdGﬂ@T;l?.U-l gl SUGL (Biofuel) &cleS U5 ollotal ol Al [Quelmiell s2j(al) @Quet(all)
wR(M) 87

1. el Queued Gedl Yyl yeuu sl

2. oy USRe] AU AR BldaAl gl 2.

3. yad €Ml Ayeiugl Bo el (Biofuel )oll Guallol sail.

¥. Ul B Supl (Biofuel) weS. LS. 2l (Rl gLl [Asuacunl wue od.

9,2, 3 Ul ¥ (B) %512, 3 Ul ¥ (C) 8§51 3 Wal ¥ (D)  §5cl ¥

Yol (@LRcl) Wl BIMSTEC @53l scllatcl MILEX-180{l Uald g (o] Gglest a3, (Ao U4l
sal 6l £ AMell desdl gsslAl ol Wscll?

(A)  Gfcllel Aol RAAHIR (B) 6lcllel Wl WESAS

(C)) wASAS uA AW (D) Ao ua slleist
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177.

178.

Which of the following Indian indigenous sport(s) has(have) received the recognition from Olympic
Council of Asia recently?
(A)  Kabaddi @) Khokho (C) BothAandB (D)  None of the above

Which of the following statements are incorrect about National Register of Citizens?
1. The cut-off date for the membership claim under NRC is midnight of March 24, 1971.

2. Assam and Tripura are the only States in the country that have NRC.

3. Assam Accord was signed between the Centre and the Assam Government that promised
identification and deportation of illegal immigrants.

4. Supreme Court directed the Government to update the NRC in a time-bound manner under
the Citizenship Rules 2003.

Only 2 and 3 {B) Onlyl,2and3
{C) Only2 3,and4 (D) 1,2,3and4

Which of the following cities of Gujarat is placed in the list of top 10 of Overall Emissions and Energy
Consumption Rankings released by Centre for Science and Environment?

Surat (B) Ahmedabad
{C) Vadodara (D) None of the above

Which of the following States has bagged first rank in the assessment by National Leve! Ranking
Framework for implementation of Amrut Scheme?

{A) Odisha (B) Gujarat {@ Andhra Pradesh (D) Telangana
Which of the following statements are incorrect regarding India Post Payments Bank?

1. India Post Payments Bank started under Department of Posts, Ministry of Communications.
2. India Post Payments Bank started with 51% of Government of India equity.

3 India Post Payments Bank can accept up to rupees one lakh per account from Individuals.
4. India Post Payments Bank is not offering any current accounts under this scheme.

{A) Only2,3and4 {S} Only 2 and 4 {C) Only2and3 (D) Only3and4

Which of the following statements about Arogyamitras under Pradhan Mantri Arogya Yojana is(are)
correct?

1. National Skill Development Corporation will train the Arogyamitras through Skill Development
Centers.

2. The Arogyamitras will act as an interface between the beneficiaries and system.

3. One crore Arogyamitras will be trained under this scheme.

{A) Only1l (B) Only2and3 C) Only1and 2 (D)  Only2

Which of the following statement(s}) is{are) incorrect about India’s first Biofuel flight?

1. It travelled from Shimla to Delhi.

2 The flight was operated by Air India.

3 It used completely Biofuel during its travel.

4. This Biofuel was developed by IIT Delhi

1,2,3and 4 (B) Only2,3and4 {C) Only3and4 (D) Only4d

The 1% Edition of BIMSTEC Military Exercise MILEX-18 was inaugurated in Pune (India). Which of the
following two BIMSTEC countries didn’t send their troops?

{A)  Bhutan and Myanmar (B) Bhutan and Thailand

Thailand and Nepal {D) Nepal and Sri Lanka
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180.

181.
182.

183.

184.

185.

186.

187.
188.

189.

R URSIR GriRiulsHl dmalr Aol deytl URA%olell (Lakhwar Yamuna Basin project)
dUldet W2 o A%A WA AUl 512 UR sxcllar sal B. o[l A Wl 53] %2 aelul aell?
(A) Gtz Uil (B) Rlwlel (c) Buud uta ULyl

R URBR ABARUL &R sl ol 0YAA 1.0 ollold o{lAell (Qruallmiell s2j(ul)

@Qutet(all) w3 (1) otell?

1. dlcRelel (Air Space) ARl Aot AgAAML ULR] B.

2. Ulow Alat (Yellow Zone)al [lot Ggalel Aot ALy alalMl e B.

3. dlal Aot (Green Zone)al WU URelled(l Blot (Automatic Permission Zone) <313
Bl AUleR] B,

¥, auRASR 2R UBL Slotell GUAloL 52 RUR AL €35 adula oluell s2clell %32 usal.

(A)  §5cl 1 ual ¥ “ §5cl 2 Aol ¥ (C) §5d ¥ (D)  $5cl R Al 3
el AU (2] WaadlA Welle] yad WEBS 3os oo uld wle.
ﬂ Rlest YRR (B) o0l UaR (C) sld3 UarR (D) GURall dxA

ARZ(AUML KAKADU 201811 CltRctotl ol Aot UL 521l olls1%6lB (naval ship) etaL ll?
(A) INS sctadl (B) NS ualls (C) INS uRéc (D) INS 5l§al

el o1 WSl s é%L UA 2831 Ayt 12 Hlellausys 22 2l (Mobilize Your City)
uu%grﬂ U grclleR saul?
(A) sl (B) =M (C) YA (D) el

2129 29Ul ARt (Clean Ganga Mission) M2 o(l2ell U8l sl &3 120 A(Aust YR 20182 sal?
(A) 5l (B) 2<llesR@os €) Boldss @) »il

U (ISRO) oll Adletllet F2let tllold oA Al QenelHiell sai Quell wri 872

. UAS dRFoll HistaMBd Rotetul AL sriaudlow edl.

2. uaslal AR As UscllSal Yol 233wl ygu ggcaustel (Micro gravity) GUR
yaalall 524l

3. Aasiaul detel Wsdot YA, A2 ual let ugdl el Al 2o oiatdl.

¥.  GlRdoll MotarEdol asial Ggst Aolotallel slelsu 20U Yl 243 adl.

(A)  §5c R 4ol 3 (B) 5513 o ¥

(C) %5l 9 Ul ¥ ém’} $5c 4, R Wl 3

ABARHL AURA e ol flud Avyaar sAJeet Asqe Vel 8.

(A)  cliodgal (B) st (C) Qo D)) RUAHR
(ol e, Yol rad — A AR ot WWEU Yels oo A Al B

(A)  RHell 5lde dsaul oA

(C) xRy glus Msu BUrell Udl 51 olél

sl A (A% Yot WdLsotsll Udalet vejul? (@l AR yRaul ad 20990u Yaur{lzisl
uu«umt AURAA SH oo 8.
(B) Bl (©) dda (D) uqd

aAct UsRell oflotl UKol s2j(ul) (QARAS(B) @lRcoll AU glRL olslRal
WLR[(AUL) &cf(dll)?

(A) A Wcll willot 2lunalel (Yurl) @QAxas 04

(B) A Well wllat Aunalel (Yurl) @Aas 0109

(C) A Bl B tidl

(D)) A ual B Usluiell 81 el
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179. India signed an Mol with 6 States for Lakhwar Yamuna Basin Project in Uttarakhand for Project
management. Which of the following States isn’t in the list?
{A)  Uttar Pradesh (B)  Rajasthan {C) Himachal Pradesh ﬂ Madhya Pradesh
180. Which of the following statement(s) is{are) incorrect regarding the recently declared Drone
Regulations 1.0 by Government of India?
1. Air Space has been portioned into 3 zones.
2. Yellow Zone is considered as No Flying Zone.
3. Green Zone is considered as Automatic Permission Zone.
4. Users will be required to do registration every time whenever they use drones.
(A) Onlyland4 (@) only2ands (C) Only4 (D) Only2and3
181. Bombay Natural History Society opened its first regional centre at _ e
A) Chilka Lake (B)  Nal Sarovar (C) Kolleru Lake (D) All of the above
182. Which of the following naval ships of India took part in KAKADU 2018 in Australia?
(A)  INS Kalvari @) NS sahyadri (C)  INS Arihanth (D)  INS Kakoon
183. With which of the following countries did India sign an agreement Mobilize Your City for
Urban Planning?
France (B) Russia {C) USA (D)  Abu Dhabi
184. Which of the following countries announced 120 million Euros for Clean Ganga Mission?
(A)  France (B)  Switzerland (C)  Finland \ Germany
185. Which of the following statements are correct about ISRO’s Gaganyaan Mission?
1. The manned mission to space will have 3 crew members.
2. It will be in space for nearly one week and conduct experiments on Micro gravity.
3. India will be the 4™ country after the USA, Russia and China to send humans to space.
4. India’s Gaganyaan programme for manned space flight will be launched by 2025.
{A) Only2and3 (B) Only3and4
(C) Onlyland4 {B)) oOnly1,2and3
186. India opened Zokhawthar immigration check-post recently along the ___border.
{A) Bangladesh (B)  China {C) Bhutan Myanmar
187. Moving On, Moving Forward — A Year in Office book was written by
{A)  Ramnath Kovind w Venkaiah Naidu
{C) Justice Deepak Mishra (D) None of the above
188. According to the report of UN World Tourism Organization, India stands at rank in
South Asian Region in number of Tourists in the year 2017.
(&)  First (B) Second (C) Third (D)  Fourth
189. Which of the following recent bill{s) of Government of Gujarat was{were) rejected by the President
of India?
{A)  The Gujarat Agricultural Lands Ceiling (Amendment} Bill 2015
{(B)  The Gujarat Agricultural Lands Ceiling {Amendment) Bill 2017
{C) BothAandB
Neither A nor B
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200.

ABARHL 209¢-1¢ HI2 UBE [Qrdlr [AstA 525U (BADP)oll @l ddld wa(drdiRell [@Asiu
secl UldRAPlA URGE URell €U A Ude sRAMl wlcal sdl. o(Aal Usl 53 A
ALEIHL otell?

(A) U@ doun (B ols2ic (C) N (D) uRWYR

IOwavel18 ¥ I0C/UNESCO 360 23 s2aidl wdcell 50 sclatd (mock drill) B. 24 AR
Sl oo aoalddl 8.

(A)  olslyty (B) derets s (@) ol (D) uddl ¢su

£2 o wdcllell wel wRoz exaaet ndla el Utdle 33 Goraanl e 8. ad
20‘[(,01 [ANAAR e 8.

(A)) ol sti Qu gs (B) deR oydlatet: 8l g dacuiee

ALSs WaASA ALY 52 2 «=yglalal (D)  oyglelal 512 alalel

Sodlat AR Ul URaR sl Hoed e€lAloll 5510l Ae? Yual sd2 sAl 24l ded oA
WAl Quisuiel sai @Quisl Wi 87

1. A 2l Uield &85 RNAL (NHRC) gLl dair sclul e} od.

2. e€lullal 10 855l B.
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190. Recently 10 states along the international borders were identified for developing forward areas as a
part of Border Area Development Programme (BADP) for 2018-19. Which of the following States is
not in the list?

{A)  West Bengal a Gujarat {C) Assam (D) Manipur

191. 10Wavel8is a mock drill started under I0C/UNESCO. This mock drill is related to

(A)  Naval Warfare (B) Coast Guard Trials
Tsunami {D) Earthquake in Mountains

192. Every year National Nutrition Week is observed during 1% to 7" September. The theme of year 2018
{ Go further with Food
{B)  Better Nutrition : Key to Development
{C) Life cycle approach for better Nutrition
(D)  Nutrition for Nation

193. Union Ministry of Health and Family Welfare released draft charter of Patients’ Rights. In this regard
which of the following statements are correct?

1. This was prepared by National Human Rights Commission (NHRC).

2. The patients have 17 rights.

3 It was recommended by the National Council of Clinical Establishments.

{A) Onlyland2 (B) Only2and3 {C) Onlyland3 ( 1,2 and 3

194. Which of the following Indian players is brand ambassador of Bharat Sanchar Nigam Limited (BSNL)?
{A)  Hima Das (B} Mary Kom {C) P V. Sindhu (D) Kidambi Srikanth

195. Which of the following US companies collaborated with TATA to make F-16 jet wings in India by TASL?
{A) Dassault-Falcon (B) Jaguar (@ Lockheed Martin (D)  Typhoon

196. With which of the following countries has India signed the Communications Compatibility and
Security Agreement (COMCASA) in September this year?

(A)  Russia (B) usa (C) Japan (D)  Australia

197. What is the name of the 2018 anti-terrorism military exercise of Shanghai Cooperation Organization
{SCO) in which both India and Pakistan took part along with other partners?

(A) Peace Mission (B)  Mission Friendship
{C)  Mission Cohesion {D) Mission Solidarity

198. To showcase the innovation and build a platform to shape the future of mobility, NITI Aayog has
hosted the first summit in New Delhi named_ L
(&)  Move: Global Mobility Summit 2018 (B) Speed: Global Mobility Summit 2018
{C})  Connect: Global Mobility Summit 2018 (D) Net Connect Summit 2018

199. Which of the following districts are covered by Aspirational Districts Programme?

1. Dang Narmada 3.  Chhota Udaipur 4. Dahod
{A) Onlyland?2 Only 2 and 4 {C}) Only3and4 (D) Onlyland3
200. Which among the following was{were) the mascot of 2018 Asian Games?
(1) Kaka (2)  Atung (3) Bhin-Bhin (4)  Zhim
{A) Only1l (B) Only3 ( Only1,2and 3 (D) 1,2,3and4
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